Divide by 0.001 (A)

Find each quotient.

9.247 + 0.001 = 9.362 - 0.001 =
7.633 + 0.001 = 427 =+ 0.001 =
5.1521 =+ 0.001 = 1.217 + 0.001 =
8.6 +0.001 = 1.79 - 0.001 =
7.9 +-0.001 = 4.88 + 0.001 =
2.15+0.001 = 0.7+0.001 =
0.75 +0.001 = 5.777 <= 0.001 =
9.73 +0.001 = 5.6 +-0.001 =
8.19 = 0.001 = 1.75 +0.001 =
6.7856 + 0.001 = 6.392 = 0.001 =
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Divide by 0.001 (A) Answers

Find each quotient.

9.247 =+ 0.001 = 9,247 9.362 = 0.001 =9,362
7.633 =+ 0.001 = 7,633 427 = 0.001 = 4,270
5.1521 +0.001 =5,152.1 1.217 =+ 0.001 = 1,217
8.6 + 0.001 = 8,600 1.79 =+ 0.001 = 1,790
7.9 +-0.001 =7,900 4.88 =~ 0.001 = 4,880
2.15+0.001 = 2,150 0.7-+0.001 =700
0.75 +0.001 =750 5.777 = 0.001 = 5,777
9.73 + 0.001 =9,730 5.6 +0.001 =5,600
8.19 = 0.001 = 8,190 1.75 +0.001 = 1,750
6.7856 + 0.001 = 6,785.6 6.392 =+ 0.001 = 6,392
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